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TBERE x g5 MEFEH
At REHT 79 98 177 71
BMNE 348 316 664 283
R} HET 337 286 623 237
AETE 69 63 132 66
fE./ =87 53 67 120 53
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SEHE 442 454 896 362
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ZEHT 46 68 114 53
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5 ) B BT 108 130 238 115
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TBERE ] x g5 MEEH
tEERE-X 346 301 647 275
X 5 5 % 5,046 5,327 10,373 4,570
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X 257 263 520 231
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BhAsy R 103 107 210 85
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AR 207 231 438 179
= dse 157 192 349 211
X 5 5 % 3,214 3,221 6,435 3,035
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IRy R 169 261 430 176
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T 220 230 450 179
pay)= ] 887 994 1881 775
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FH 140 159 299 122
R EFHT 237 255 492 219
ER{EHT 148 189 337 141
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X 5 5 % 2,205 2,484 4,689 1,925
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FILAT 130 130 260 83
T EFHT 720 730 1450 526
BENE 477 456 933 301
X 5 5 % 1,889 1,812 3,701 1,312
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A 223 266 489 195
A 27 37 64 28
g0 25 34 59 28
X & § X 387 465 852 351
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w L 192 206 398 162
TR 110 133 243 100
A ) 3 67 93 160 92
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Pk 123 98 221 98
TH 48 42 920 42
& 113 111 224 92
X 5 5 % 1,163 1,210 2,373 1,066
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TBERE ] % g5 MEFEH
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E5EE 380 391 771 345
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= 241 230 471 189
HETER 73 82 155 59
MAF 84 86 170 55
P! 100 96 196 91
FEEm 177 192 369 143
Ly 5 47 46 93 38
2817 45 58 103 42
SE 194 200 394 157
+H 135 168 303 122
E 324 317 641 286
= 135 108 243 120
EBRF 405 418 823 303
Lk 44 62 106 43
= 49 49 98 38
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MLOKE 854 925 1779 686
BT 167 160 327 137
FoaELX 136 121 257 80
X 5 5 % 3,719 3,828 7,547 3,036
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BiE 61 89 150 57
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TBERE g5 MEEH
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X B B X 531 626 1157 506
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FFRE{—H 30 33 63 28
Tt 78 84 162 75
Fith 33 37 70 32
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5 47 59 106 40
OHEE 45 57 102 40
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TBERE ] x g5 MEEH
A% LM 38 40 78 33
X 5 5 % 414 480 894 374
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RHE 142 157 299 128
KHEI 82 86 168 74
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RHEE 703 695 1398 556
mns 383 397 780 315
= 99 103 202 85
KHEFHH—TH 0 0 0 0
REAHH_TH 0 0 0 0
REHE=TH 0 0 0 0
KE 114 85 199 98
B 15 AT 620 615 1235 414
X 5 F % 2,592 2,610 5,202 2,042
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FiE 251 234 485 187
SR 124 151 275 114
+= 14 12 26 14
A ol 71 72 143 57
+=K 31 33 64 32
ERT R 27 27 54 23
T/NE 69 76 145 63
/N 30 30 60 27
=R 33 42 75 31
+FTXR 70 68 138 65
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X 5 F % 797 826 1,623 677
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Ba 62 56 118 53
=18 16 17 33 17
A0 35 39 74 35
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= 24 21 45 24
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RE—RX 39 42 81 41
RE_ZRX 48 37 85 44
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WRiE 15 18 33 18
EHE 18 19 37 19
1788 35 46 81 39
RE 42 46 88 42
X & Bt % 225 238 463 228
ER (1BAR)
=k 137 162 299 132
X B B X% 137 162 299 132
AT (1BAR)
T 781 323 1,104 1,097
X & Bt % 781 323 1,104 1,097
IBfeRIUTF D& & 33,727 34,935 68,662 29,906
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ZRT— 112 118 230 100
ZRTZ 75 86 161 79
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TBERE x g5 MEFEH
#=FHh 155 169 324 117
=1 51 49 100 35
B 72 79 151 64
K& 150 151 301 113
X & Bt % 615 652 1,267 508
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iE /N 25 30 55 25
/& 7 10 17 8
B 90 105 195 88
it 142 127 269 107
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FigiE 21 24 45 25
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X 53 67 120 50
= 78 87 165 61
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INE 85 98 183 77
X &5 385 441 826 334
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It 20 20 40 17
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